< & ¢@>(rad)

< 00y > (Um)

< opJp, > (%)

Ratio

o

[

[¢)]
IIIIIIIIII
< dcot(6) >

o

[

[¢)]
IIIIIIIIII

............................................................................................

PN 1 1 A

-3 -2 -1 0 1 2 3 =3 -2 -1 0 1 2 3
TP n (PCA to beamline) TP n (PCA to beamline)

[—=— D 'SIVI_or!g!na_orl nalvector_1000evt

—e— DQM”original_1000evt

—— DQMfitted4_T000evt

—— DOM_fit_nocpe_1000evt

[y
D O O
T

< 8d,> (um)

40_— ----------------------------------- 40_— -------- N A I A T
r H y N y H r H 3 I 3 H

P Rt 1111 RSNk 1/ KRR SRS 7 S 311|{ AR | SRR SIS
O o[ 000 1] RSO OF - fene BT LR

=3 -2 -1 0 1 2 3 -3 -2 -1 0 1 2 3
TP n (PCA to beamline) TP n (PCA to beamline)

...........

...........

--------- bt - - o R R

H RIAINEARANR | | H
-3 -2 -1 0 1 2 3
TP n (PCA to beamline)




	Contents
	Page 1


